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Handout   Reinforcement 
1 – 6 

Section 6  Adding Big Numbers –  
Subtracting Big Numbers   

1. Find the sums. 

  1            1      1   1   
a)   2 5 6    b)   1 0 1 4    c)   1 2 8 5    d)   1 7 2 9   

 +  8 4 2     +  1 7 8 5     +  1 0 5 3     +  6 3 9   
                    1 0 9 8    2 7 9 9    2 3 3 8    2 3 6 8  

 
 1 1      1 1 1      1 1 1     

 1 1   
e)   2 5 4 3    f)   9 4 6    g)   8 8 8    h)   2 7 8 4   

 +  2 2 6 7     +  9 8 9     +  8 7 7     +  1 2 3 0   
                    

4 8 1 0  
  1 9 3 5    1 7 6 5    4 0 1 4  

 
 1     

 1      1  1      1   
i)   2 4 0 0    j)   2 6 2 3    k)   9 3 3    l)   1 6 6 6   

 +  1 7 9 7     +  1 3 6 7     +  9 0 8     +  2 4 0 0   
                    

4 1 9 7  
  3 9 9 0    1 8 4 1    4 0 6 6  

2. Solve the problems. 

a) Last year, Maya the witch captured  
1922 crows. This year, she captured  
1190 crows. How many crows did she  
capture in all? 
 
Maya captured  crows in all. 

  
1 1  

 1922 
+ 1190 
 3112 

 

  

b) Last year, Iago the wizard cast  
1672 spells. This year, he cast  
1118 spells. How many spells  
did he cast in all? 
 
Iago cast  spells in all. 

  
1  

 1672 
+ 1118 
 2790 

 

2790 

3112 

My calculation 
 

My calculation 
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3. Find the differences. 

        1      1        
a)   9 8 6    b)   1 2 3 9    c)   2 2 4 8    d)   3 9 5 8   
 –  4 7 6     –  1 0 6 2     –  1 0 7 2     –  2 7 0 3   
                   
 5 1 0    1 7 7    1 1 7 6    1 2 5 5  

 

  5   

 

   6      9 9        
e)   3 6 0 8    f)   1 6 7 2    g)   1 0 0 6    h)   3 8 9 9   

 –  1 2 5 6     –  1 0 5 7     –  7 9 7     –  2 7 6 4   
                    2 3 5 2    6 1 5    2 0 9    

 
1 1 3 5  

 

  2 9 9           1 9 9      8   
i)   3 0 0 0    j)   3 9 9 9    k)   2 0 0 4    l)   9 0 2   

 –  2 0 5 6     –  2 4 8 5     –  8 6 5     –  7 3 0   
                    9 4 4    1 5 1 4    1 1 3 9    1 7 2  

4. Solve the problems. 

a) Gisella captured 2746 bats, but  
1228 of them escaped. How many  
bats does she have left? 
 
Gisella has  bats left. 

 

 

3  
 2746 
– 1228 
 1518 

 

  

b) Nestor had 3797 feathers, but he lost  
289 of them. How many feathers does  
he have left? 
 
Nestor has  feathers left. 

  

8  
 3797 
– 289 
 3508 

 

 

3508 

1518 

1  1  

1  

1  1  1  

1  1  

My calculation 
 

My calculation 
 

1  

1  


